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A. Choose the correct answers: 

 1. Trade in which goods are trade without money 

(a) Import trade.    (b) Export trade.    (c) Barter trade.    (d) Commercial trade 

 2. What do plant and animal kingdom make together? 

(a) Biosphere.    (b) Hydrosphere.     (c) Atmosphere.     (d) All the above 

 3. Life bearing layer on the earth is 

(a) Lithosphere.      (b) Hydroshphere.       (c) Atmospheres.     (d) Biosphere 

4. On every year World Environment Day is celebrated. 

(a) 5 June.            (b) 5 July.       (c) 25 June.   (d) 25 July 

5. Abiotic component of environment is 

(a) Bird.          (b) Land.       (c) Human.      (d) None of the above 

6. Who interacts with the environment and modify it according to their needs? 

(a) Plants.     (b) Animals.    c) Humans.         (d) Rivers 

 7.________________________ revolution made __________________speedy across the 
world. 

(a) Information, communication.        (b) Information, conversation 

(c) Data, communication.                      (d) Data, conversation  

 

B. Short answer questions : 

1) What does industrialization mean? 

       a. Society moves from craftwork to factories 

2) What are the three main factors that made industrialization possible in Canada in 
the 19th century? 

 



     a. Population growth, Reciprocity Treaty, domestic market 

3) Name one important invention that made mechanization and industrialization 
possible. 

a. Steam Engine 

4) Name four sectors of the economy that increased in production during the second 
half of the 19th century. 

   a. Food,, textiles, metallurgy (iron and steel), lumber 

5) Name two sectors that grew to meet the demand of a growing population. 

   a. Food and textiles 

6) What does "capital" mean? 

   a. Money used to start a business 

7)  What does "means of production" mean? 

   a. Tools and machines used to produce goods 

8) What is the iconic symbol attached to meaning of industrialization? 

a. Factory 

9) How do merchants afford to build factories if they do not have the money to start 
construction? 

a. Borrow capital from the bank 

 10) How do banks make money? 

a. They make money by giving loans charging interest on those loans 

11) What is the name of the economic system that made industrialization possible? 

a. Industrial capitalism 

12) What were the two types of infrastructure projects being built during the second 
half of the 19h century? 

a. Canals and Railways 

13) Describe why it was important to build infrastructure to make the economy grow? 

a. Makes exporting easier, cheaper  



14) What was a new industry that emerged from the forestry industry in 1880? 

 a. Pulp and paper 

15) Why did dairy production increase in 1870? 

  a. Easier to produce, less employees 

16) Where did mechanization have the most impact on agriculture? 

  a. In areas close to urban areas 

 

 

 

 

 

 


